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2N SS0
M. HESHBH (=) (IJIEH/IIE
erel: Jl= 2| (29 a8)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
— S204 ] 7,000€ x14% 20 1,960
O= A Y Xt 3,240
— LBLE A 135,000 =20 x12& 3,240
(OFSEWIRIPN 55,000& *1CH+x12& 660
Oatee 22 30,000 x12& 360
02 33294l 25,691 21,861 3,830
oRER3 150,000& *12& 1,800
OJIEtEa322 9,032
— &3 8,856
= A 400,000 x12& 4,800
S S 4 0002 %204 A +12& 96
2 X 3 2 330,000& 128 3,960
—SENEREE S 176
ANES 63,000& *23] 126
= 25,000 =10 *23] 50
OHZHl 6,849
— AMNSRA 1,300 x1.74 *8A| 2H+30H*100L 5,304
— = &4 1,300& *4.950 *8A| 2+*30L 1,545
OxsER X 22 7,950
— AEI2(ER) 3,450,000 = 1CH 3,450
— AR (ASESHE) 3,450,000& = 1CH 3,450
- BE2 (I L 482 S)
350, 000& =3CH 1,050
OX S RHA 30,000& =2CH 60
202 044l 40,600 40,600 0
01 2L Y| 40,600 40,600 0
OZUW o bl 200,000& *14H «12& 33,600
O22 0yl 50,000& *14H =10 7,000
203 ¥R =AY 10,160 10, 160 0
01 J|2A2SH L RE=AH| 6,600 6,600 0
OHE 6,600,000& 6,600
02 HJAJPAHFFAH| 560 560 0
OFJAINNMAR =Y 40,000& *14H 560
04 ENSHLRE=XH| 3,000 3,000 0
OFN2IIRF&Y| 250,000& «12& 3,000




